z'_(}\/%;/_;‘?(lfﬁﬁn

RYKADAN
CAPITAL

RYKADAN CAPITAL LIMITED
ZEEXERQFA
(5P 42 7 5 G A0 7 19 47 R 2 )
(B8R - 2288)

CERCREFREBFREZAREBERS

HEREERGRLT ([RQA ) KA T EBRIEO0.01 # Tz By 3t i

Z;—é%—ﬂ*%ﬁ}\(wniz) S H?EWM’”

Huht 5

BRI K ERmARANBEZMNE > RERA S BEBEARANFTNR ZF HAFEILA A (CRB =) N R = e IE RS 45
S8 95 BEAT — 0 1048 1 BT 2 ROROBAE K& (T RS ) (RHATI&E) W& EREAN BEKBU TSR E g2 EE
Frif 2 e R e e LR 2 2 A e E e R s R AR R AN BE 2 2R EWEIRE -

FEFELA TR AR T 2 R .

ERRER B %3]

BERENALNTARHAMEARAEE L - HE=A =1 — HILFEZRE%
Rk E BB R R A O S R

Ep S e

BEHERgEEERME -

RIS AE R o B STBRy & w1 AT AT 2 R O B A b o o e LN

1) T 5452 HH — SR AR LU [0 AR 24 R Ay o

) T S 2 Hh — IR AR LR AT - MO8 MO IR A N W 2 R BAT By -

el Pl BN Rl Il el o

FEIA AR w) g (] 2 BB AR WO 7 T S AT A 8 R R B AT I 2 — JRAAE -

> wn e

DR A H geg e

it LA TE RS WA b 2 4 S hik o BT A7 BB 4 1 AT RO 4 B B

FPELL PR A SR BB o AR RO IR CR RAE RO AL S BT AT UL T R BB AL R AR T 2 SR AT o

A LA E RS B2 B ANR 2 24 Rk o RIAZ > KEEROAES BN ZZZBAXKTHE - ARREZERKZBAERYAHBBABERT -
EERRTR: BMTURRRERAAER FE(ERIWMTHLI/I% - BTOERRRERABER  BEIREIMTELT/I$K MUk 0z
il BN 2 ZZARAMATIIEER o BT 2 ZRARTA R G 1 IE 2R R R 4 2 AT B R SR B AT R R .
ARKBAERMAN BT B ZEXHERMEANEE o MR A > B E A w) By @ S B sl b e sl A e AR e %
=,

i J i 4 F5 AN o BB 5 NP AE AR S BB A M L e 2 e AT N AN ol B R IR LI > Rt A S BT ek > A 44 F5 A1
PNGLES & i N & P T

PR T AT FAM I 7] A5 8 2 B A B SO (AT ) e S S M o el P SO 2 B A R0 K sl A 2 4 2 BT I ] O /LN g
A o BRI AN A R 2 e Iy A OB RO 0 B S AR R SR RO AT PR A > Mk A o R ROE 16 SR R R T 17 M > T AT
ZRRERBHADA LTI - LIRS ER ETHERE -

HZ AW A MR BT - B ORI R Gl 7e & B4R o R ULT » AR AT RS & D 2 et -

b S A T P SR A A A A A B e A SO R A o

R LA B8ORS A o R S R -

WEBAEREH

A WY e BT TN EORE ) B 9 5 114 486 BECIR DR (RLER) e fil) (T KR (AR R BI1D ) b TR EORH ] (B8 ARTR] o B RO A BRI A

EoH -

Hertdh BR K& BN RAEAGERNEA Rk > DURREE B REARZERE LR R (SRR - W B RGERAZH R

A FA O] A R PR AR R o AN W) R AR A R AR A o N ORI B BB A AR N WA B A W BB KR RO 2 2 AR s W AR AT

B~

Nt e

B B HC A R 1Y 5 = RS (R R > LA A 2 5 91452 T 2 SR BT A B R 9 A e R A B T 8 e Y 5% 56 T A A B A B B A B R

A A A 30 S0 R R AT T 1) 5% A5 P 3 (LR PR A B T AC B R ) o A D A B O N e i1 5 R ] e B R (RLBR ) M 61 ) 2

o A B SR A DA T 7 SR A A R SR R O R R (kb dn b ) i FLRE k] 3 B A



